M5 AR
Al B B 2

N F H &

)

il

- [T B X OME AT, ABEAOERH B X THOL TR,
- RBRESE, BEBROZRESE G+ 10 v ICERICEATS L.

CHREASOX, 3=, 5 R-Y TR, 9 R-JIZHB. BELTWS

LadEBICHLES Z .

- BRI IERAR 1 L RS IR 5 L AR 2 BRI DA TR TV 3.

RAESHRZ IS VEHIE> T EEST Z .

- fEE GRPORE, #HRSE2ED) X, BEINMERROIEE S Wiz

AT 2. HESNBRERROBESNIBAUMIEA L REE
EHEIB.

. HFEMFOREE TEZXMEALTD K.
- FRERMRERB R - TRV IR,
. AT, BXORERMFORE - AERBIRE Z L.

OM4(503—42)



n% 2 L EOERKY T 5.

(1) 0=z 1 DL E, ROFREFERDPED LD & ERE.

1 n < n 1 S k-1 \ < ,.n 1 n+1
1am < (1) O L EPL e P
k=

r+1 ;

n oo 1\k—1
(2) an=z( D) I3 E ROMRMHEERD &.

k=1 k

lim (—-1)"n(a, — log2)

n—o0

(B rE= 20 %)

— 3 — OM4(503—45)



FHE LD 3550, A, B #
208+ OB| = |04 +208[ =1 »> (204 +0B)- (0K +0B) =
BT LT B,
(1) (204 + OB) - (OX + 20B) &k &.
(2) *FE EDRP 23

|OF — (0K + OB)| 2% i) cﬁ~(2cﬁ+cﬁ)§%

AT ESCE L%, |OB| ORAME L S/MEERD k.

(BLAZR 20 %)

P REEPE LKL L, S P OBEE (o,b) LT 5. —r <t <7 ORI
HEFERt DB, R y = cosz LD (t,cost) B BRI P @3 &
WOEHEBTTHODEEE NP) 255, NP)=4b»20<a<7&A
T &SR P OFEHIE & AT RICKRE K.

(B2 20 %)

— 5 — OM4(503—47)



[4] abza+8 > 150 b % 0 2ALTEROEKE 35, MEZENON
A (a,0,b) L P (z,y,0) 22 5. K 0O(0,0,0) 2D ELR AP L BERVHE o
LU, FH o YERAP LOXREE QLT 3.

(1) (AB - A0)? = |AB|?|AG|” DD IDZ ¥ BT

(2) |0G| = 1 2&=F X3 P (2,y,0) 3 oy FHEEZH L&, AP Ol
iz KD XK.

(BLsE3R 20 %)

— 7 — OM4(503—49)



1EOX W 5% n [EPT, kEECHEER o 55, by, %

bn, :Za’f—kak
k=1
WEDEFEL, by, 7T DRER L2 5HRE p, T 5.

(1) p1, p2 KD X.
(2) 85 {p,} OD—HIEE KD X.

(B3R 20 %)

<OM4(503—51)



